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KAHUHO UHURU HIGH SCHOOL
NAME………………………………………………………………….ADM………………CLASS………..

FORM 2 MID TERM 
BIOLOGY 

TERM 2 2013
TIME: 1  HR
INSTRUCTIONS

· Answer all questions in the spaces provided.

Questions (50Marks)

1. Name the following blood vessels.  








(3 mks)

(i) Transports blood to the liver
……………………………………………………………………………………………………
(ii)  
Transports blood  from the kidney


               ……………………………………………………………………………………………………
(iii)  
Transports blood to the lungs




……………………………………………………………………………………………………
(ii) Explain how a root hair cell is adapted to its function




(2mks)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

3. State the adaptation of xylem vessels to their function






(2mks)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………
4. Explain why oxygen is important in the process of active transport in cells



(2mks)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………
5. 
(a)Define the term transpiration








(2mks)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

 (b)State three  types of transpiration








(3mks)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………
(c)Identify any two factors that affect transpiration






(2mks)
……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………
6. The diagram below represents the pathway of water from soil into the plant.
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a)Name the structures labeled K and L



K…………………………………………………..



L…………………………………………………..





(2mks)



b)

Explain how water from the soil reaches the structure labeled L


(4mks)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………



c)
Name the process by which mineral salts enter into the plant.



(1mk)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………
7.
a) What would happen to a second pregnancy of an expectant mother with rhesus negative having a  baby

             With  rhesus negative










(2mks)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

b) What is the name given to the conditioned described above





(1mk)

……………………………………………………………………………………………………………………


c) Name any possible control of the above condition






(1mk)

……………………………………………………………………………………………………………………
8.
A patient whose blood group is A died shortly after receiving blood from a  person of blood group B. Explain the possible cause of death of the patient.






(2mks)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………
9. The chart below is a summary of the blood clotting mechanism in man.
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Name 

i) The blood cells represented by X






(1mk)





……………………………………………………………………

ii) Metal ion represented by Y







(1mk)





……………………………………………………………………

iii) The end product of the mechanism represented Z




(1mk)





……………………………………………………………………

10. State two functions of the stomata to plants







(2mks)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………
11. State three structural differences between arteries and veins






(3mks)
……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………
12. Distinguish between :

(a) Open and closed circulation









(2mks)
………………………………………………………………………………………………………………

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………
(b) Single and double circulation









(2mks)
………………………………………………………………………………………………………………

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………
13. State three adaptations of red blood cells to their functions






(3mks)

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………
14. Explain how the following plant adaptations minimise rate of transpiration 

(a) Sunken stomata
………………………………………………………………………………………………………………

………………………………………………………………………………………………………………
(b) Leaf folding











(4mks)

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………
15. State two components of the phloem









(2mks)
……………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………







